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anp =N (%)
(4] (1) 5z & n7-i e
Tpy1 = 62y + 3yn
Yn+1 = 3Tn — 2yn
VAN
Tn+1 — kyn+1 = 65577, + 3yn — k(gl‘n — 2yn)
= (6 — 3k)x, + (2k + 3)y,
{zn — kyn} 75, BHr OFLEIITHLZ Eh b,
(6 —3k)x, + 2k 4+ 3)yn =ray, —kry, (n=1, 2,--+)
o TROMLFFEXDK D 32D ¢
r=06-—3k
kr = —(2k +3)
Z OEA RN E LT
k(6 —3k)+2k+3=0

L =

3k — 8k —3=0Bk+1)(k-3)=0 .. k=3, —
FNENr =3, TTHoND,
k=6 -3, (-5.7) @

(2) (1) DFER LY,
Tnil — 3Ynt1 = —3(3371 - 3yn)

3 3
T = 6, Y1 = 3
B1RED,
@n = 3yn = (=3)""Hz1 = 3y1) = (=3)" 71 (6 —3-3) = (-=3)"

1 1
Tn41 + “Yn+1 = 7 Ty + —Yn
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FRIZE 2L D

1 _ Pn—1 l _ Pn—1 1 _mn
wn+3yn—7 <x1+3y1> =17 <6+3 3)—7
LoT, EEOIEEH n 2T
1
Tp =—{9- T+ (-3)"}
Y (%)
v = 157" = (=3)")

NOTE .
TG 2 5Nl b 5, B {x,}, {yn} TNENOBSE 3 HMOW L% > <
B,
{ Tpyo = 4Tny1 + 212y,
Ynt2 = 4Ynt1 + 21yn
2L INEERBECTHE CHRERS.
(5] (1) % 2 K28
Unto — Qpy1 = Bans1 — Qap) <= anyo — (4 B)ani1 + aBa, =0
CERENZZETIUE, a+B8=1 af=-1%D, o, BIE2—t—1=0D2fF
oz 1=V gopp o 18Y5 L 1oWE y gy
(i) (@ B) = (1.72) DL & {anss — nan} AL 3 OEIHFIT, I
l-m=% (- nt+tr=1)
Ungl — ViGn =2 - Yo b= e ©)
(i) (o, B) = (2, 1) PE& (i) LFEFKIZLT,
Uni1 — Yol =Y e ®
@ 5ODW 4 %FINT
(11 = 2)an =971 =75
£-oT

(n:L 27 )

PGt S ( 2
o - NG
Pl b X ke 5 —f3E 1L

<1+v%>”_<1—v%>”
2 2 =
NG
(m%—%:ma¢Mf
Qn 4 Apg1 + Apg2 =1
i)
bn 4+ bpt1 +bpyo =0
Nt
bpyo — abpy1 = B(bpy1 — aby) <= byio — (a+ B)bpy1 +afb, =0
EEBENZETNE a+8=—-1, aB=1. £ oT, o BIE+t+1=0D

an =
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2 725,

t=w, w? (f:ffl,w:_l%\/gz>
=Ll 11
by —wh = -5 +w- 5 =3wW-1)
LoT
b1 —wby, = %(w -1) (w2)n_1 ......... ®
1 1 1
b= g et g =g (@)
LoT
1 o
bn+1—w2bn:§(w2—1)w T @

@noH@x B AFI\NT
(w2 — CU) bn = % (w — 1)w2(n71) _ % (w2 _ 1) wnfl

w(w — by = %(w ~ 1)) %(w F 1) (w— !
LoT

b, = %w%*g’ - % (~w?) "% = % (@™ +w") (0 Ww=1, W tw+1=0)
an = bp + % L0, ke z—frEi

1

an == (1+w" +w™) (%)
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ANHIERREE
(1] nS,=(n—-1)2a, +2—1n) ----v--- D kY

(n + 1)Sn+1 = n(2an+1 +1— n) ......... @

@6 O%FINT, Sy —Sp =an1 xHTIEDDLE
Nan+1 + Spn+1 =n2ap+1 +1—n) — (n—1)(2a, +2 —n)

ThibHIH

Spt1 = nap+1 — 2(n— 1a, —2n+ 2
@IZfRALT

(n+ D{nans1 —2(n — Da, —2n+ 2} =n(2an41 +1—n)
BT

(n? —n)apni1 —2(n?>—1a, — (n*+n—-2)=0
(n—D{napy1 —2(n+a, — (n+2)} =0
£oT, nz220k %
nap+1 —2n+1a, — (n+2) =0

agl)
2 Va, 2
gy = 20 Do 04D ®
OCTn=1%&35%k
alelzo

THDHD, a9 =3 THH0H, n =21 IZBVTEIHY 7D,
@OMTIZ 1 EME S &
2(n+ 1)a, +2(n+1)

n

an+l+1:

Mm% n+1 THS &
an+1—|—1_2 a, +1

n+1 n
SET by= (an41) EBLE
bss = 2bn
D, B b} FAK 2 0FRHEIITHSL. a1 =0 LD by =1THoH,5H
by =2"""
£oT
%(an+1)=2’“1 Soap=m-2""1 -1 (%)
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